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Z et B E: 2012-10-1  00:00:00 = 2012-10-31  23:59:59

%t eta: 2012-11-1  9:34:29

F . RA | RE | AHE |, | wHE o, | TREH | BHEE 24 | TH2> | %6 | %6
5 o ea | o# | oen | F man | oaw | EFR aw | oxw PP as | mes | as | 84
1 TREA 21 | 21 21 0 21 100% 100% 100% 100% 0 100 0 100 1
2 AR R 1 1 1 0 1 100% 100% 100% 100% 0 100 0 100 1
3 LN 1 1 1 0 1 100% 100% 100% 100% 0 100 0 100 1
4 TAFEREER 1 1 1 0 1 100% 100% 100% 100% 0 100 0 100 1
5 XA 1 1 1 0 1 100% 100% 100% 100% 0 100 0 100 1
6 TR 276 | 265 | 263 1 258 9348% | 9601% | 99.62% | 9529% | 029 | 96.01 0 9601 | 2
7 TALR 403 | 384 | 3™ 10 380 9429% | 9529% | 9740% | 9231% | 041 | 9509 | -0.2 | 9489 | 3
8 WEER SRR E 724 | 667 | 639 31 638 88.12% | 9213% | 9535% | 8826% | 071 | 9107 | -0.2 | 9087 | 4
9 AT R 53 | 51 47 0 34 6415% | 9623% | 100% | 88.68% 0 8245 0 8245 | 5
10 W E A 395 | 312 | 297 6 248 6278% | 7899% | 98.08% | 7519% | 033 | 76.66 0 7666 | 6
11 TARER 5 4 1 1 3 6000% | 8000% | 7500% | 2000% 0 55.75 0 55705 | 1
12 WEFEEZS 17 | 4 4 0 0 000% | 2353% | 100% | 2353% 0 334 0 3314 | 8
13 AR 2 0 0 0 0 000% | 000% | 000% | 0.00% 0 0 0 0 9
D) RBF=LBHNAEHx100%; HMEFF=HMEZH N AL EH<100%; BRI E=RITH-LEHx100% ; —KTRE=]1-KIFE;
BB R E=GAEE FH DA E #x100%;
2) Mt (BRBREMABEZH-NABERAM WAL LB B UAHEZLY) <2 NABRHLA MWL NN (REE A BT EER S
BUE. ARRE) ARTmg, ETEZERAL LTS

3) RAB/=E FEx10 +HEH 5 F T x40+— K TRFE QS+ ML F F 5+ o

4) GEGI=Z 5B - FRMEI D

5) BFEWITHEERB=FEHITZHH+TBE - EE L Z2H4

6) ZAKAE MR AIE 50 £ K.




